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SECTION F
(Case Study -1)

Read the case study given below and answer the questions (Q. 30 and 31) that
follow :

30.
31.

32.

33.

63

Social stress can be broadly defined as a situation which threatens
one’s relationships, esteem, or sense of belonging within a dyad group, or
larger social context. Social stress, can emerge in a number of situations.

Social stress can stem from difficult social interactions, for example, a
conflictual or tumultuous marital or family relationship. Social stress can

also emerge in the context of evaluated performance situations, where
others could be judgmental or critical, or in contexts in which one feels
rejected, ostracized, or ignored. Social stress can also be more broadly
construed, representing perceptions of one’s lower role or standing within
a group or community. Social stress can lead to a range of observable and
measurable responses related to health outcomes.

What impact can social stress have on an individual ?
State two causes of social stress in day-to-day life.

(Case Study - 2)

Read the case study given below and answer the questions (Q. 32 and 33)
that follow :

At any one time, a diverse set of individual, family, community and
structural factors may combine to protect or undermine mental health.
Although most people are resilient, people who are exposed to adverse
circumstances — including poverty, violence, disability and inequality —
are at higher risk of developing a mental health condition. Protective and
risk factors include individual, psychological and biological factors, such
as emotional skills as well as genetics. Many of the risks and protective
factors are influenced through changes in brain structure and/or function.

People with mental disorders also require social support, including
support in developing and maintaining personal, family and social
relationships. People with mental disorders may also need support for
educational programmes, employment, housing and participation in other
meaningful activities.

According to the above paragraph, what type of people are more likely to
have a psychological disorder ?

State two steps which are helpful in addressing the concerns of
mentally-ill people.
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Qs od
(Safeh 3TeTaH-1)

[HfTRad =fth 376997 U Y8 7Y 591 (30 F 31) % X FIITY :

HTHTSTeR SoTel ohl HIS AT 9T Weh UHY fRerf & & # uftsyiivg fomam S gemar & s
IH HE I1 SIS HIHTISTh Had H el o Helell, T AT JUATT =l WIeHT o folg @t
S GehdT & | FTHTISTh qoTe s eafoRi § S dhar & |

HTHTSToR STe hidH ETHTISIh Goiel O 34 81 HohdT 2, Ierewne fortram el
3FordT forefser STieeh AT qTRETeh Heier | WTHTIS ot Yedifshd e feerfadi s
e § oY 3T gehdT B STET 3T AT A AT ST & Hohd 2 | 98 U8 G §
off TEgE foram ST wohdT & STl &5 T HI 3FFd, daewhd a1 UfeFd 9T 2 |
TSI 919 %1 ST saT9eh &9 H forell THg a1 §qer o Hiaw (e fieht a1 gfast
1 AT o1 e S STt st 7T ST GehdT © | GTHTSTeR g Saeey qiormy
T Gl ford g YehI ol STeTcIehH 19 Tel HIGHTT STSRATSAT shl ST < HehdlT 2 |

HTHTSTeR SaTd o1 foRelt STk I R—IT TS U HehalT & 2
2feh Sfie § ISR gaITer o 21 ShIRUT R Sl hifSTU |

(FATh TEATH-2)

fFIfTRId S 3£ g Yo T8 o1 (32 F 38) % ST d1iTT

foreft off wwrr safeh, TRET, SHET ST SCHTCH FHehi o fofaer ae] fHetet
AHEer TR hl T8 AT SH FASIT ht TeohdT © | JTT AR T feerfa-sems
(ftfsiferde) &1 &, qenfa 9 Anr off Tisf, e, fospaimdr it semmar el gfosd
ettt & Hae § BId 8, 3¢ 3HY AR SIRGH BIdT & | GRaTeHsh 3T SHaH e
4 I, AT ST Sifereh ek ST S HIcH hiIeiet ST SR forem € |
3 SIRIH I GLETCHE e HRASh sh! SLaHT S / A1 T § qEa & JTeW &
T B 8 |

AR foemd & oeq it skl amiisies gwel it oft sraggendr =it ®, R
FfhiTd, TTRETieR 3T TS deel ol foesrfid s § ggmdar 6 smer snfad
? | UHTYs forued A ohl JeTioreh hbshHT, USTIR, AEE 3R 3= 919
TR H AT o 2 o S8TIaT shi 1wk 2l el 2 |
I T o STTHT fohd TehT o QT HATGITIe foleh & sht 3TTereh eram & ?
WY &9 8 SR A shi el sl g H g o1 Ui SdTsy |
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25.

26.

27.

28.

29.
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Describe four methods through which attitudes are formed.

You are a psychologist assessing the personality and emotional state of a

new client using projective techniques. You decide to use the Sentence

Completion Test and Draw-a-Person Test. Describe how you would use

these tests and explain what kind of information you might gain from

each test.

Meera has an intense irrational fear of spiders and experiences sudden

episodes of intense terror with breathlessness and dizziness. Identify the

two types of anxiety disorders she might be suffering from and suggest

one coping strategy for each.

(a)

(b)

(a)

(b)

SECTION E

How does Freud explain the stability and potential changes in
personality over a person’s lifetime ? Provide an overview of each
stage and discuss the impact of encountering problems at any stage
on personality development.

OR

How do ecological and cultural environments influence personality
development ? Provide concrete examples from hunting-gathering

and agricultural societies to illustrate your answer.

Discuss the role of core schemas, negative automatic thoughts,
cognitive distortions and irrational beliefs in cognitive therapies.

OR

Discuss six key ethical standards that  professional
psychotherapists must adhere to. Explain how each standard
contributes to the effectiveness of psychotherapy and ensures the
well-being of clients.
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3 =R ikt 1 i e ik arem @ sifyaf Faforaar 2 |

AT Teh AR & ST T&dl derdlehl ol TN T Teh ¢ Ganeff o safthea 31T
TaTTeHes R o SATehe 9 W® & | 3T ITeR-GHTY YT 37T Scheh Ue1or o
TN A T 0 A € | i IS R ST 3 aieron ST SR R Sl 3T
AT HITSTC, foh TIeh TRIeToT & STTOeh for® TehT ol FeT firet Hehc & |

W ! WehiSdl ¥ Sgd ST TNIAT € | SH = €iE Boid S FFhl I o 91
SFcaftreh W 1 ATHA BT © | TE=H RIS foh 8 T &1 wehm o gfafar faeemi &
Gifed 21 Hehd! 2 U ek TRt ohT GTHAT o o foAT Teh 3UT o118 |

()

(@)

(%)

(@)

Qs &

e foret =afr o Sfiadehrar § feerar 3R gifara afadH i fore gorr T
A & ? Tedeh =0T 1 foeur o g Afehedt forerm o fopeft +ft Tt ox waenstl
T GHMT T o 9T 9T F=1] shiTT |

YT

qTifEerfaer 3R Hichioer waiatr ke fowm@ &l e gwifad & § ?
TRTeRR-ETE0T 3T e GHTST ¥ Hd SATEL0T ad §Y T I hl T AT |

GTCHe ferferca # Hel ThiHT, TohricHeh Ea=iierd o=, §HTcash gt
HI 3Aforerehl forgmal shl fHeRT UL <=l shifsC |

YT

IR AAffohcaent & g1 forT ©g Afdes WHehT st ST foRam ST =iy |
wy HIfST o F8 g T mafHfercar s gueeedt sAar § 3 gareff fr
WRATS G T |
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(a) Discuss the difference between a simple and a complex attitude
system using the example of attitude towards health and
well-being versus attitude towards a particular person.

OR

(b)  Assess and write the impact of family and school environment on
attitude formation.

Identify and explain two strategies to reduce social loafing within a
group.
How can assertiveness impact an individual’s response to stress ?

Evaluate the role of common motives and goals in forming and
maintaining a cohesive group, with an example.

SECTION C

You are working with a client who handles high stress well and remains
healthy. How would you evaluate and support their ability to manage
stress effectively ?

Explain how the Age of Reason and Enlightenment influenced the
treatment and perception of psychological disorders in the seventeenth
and eighteenth centuries.

(a)  Analyze the relationship between intelligence and creativity, based

on Terman’s research findings.
OR

(b)  Evaluate how Gardner’s view of intelligence as an independent and
interactive type challenges the traditional notions of a singular,
unified intelligence.

Ashok, who suffers from obsessive compulsive disorder (OCD), is

considering alternative therapies to complement his current treatment.

Recommend and justify which approach might be most beneficial for
Ashok.

SECTION D
(a) Compare and contrast technological and integral approaches to
intelligence. Also discuss the cultural factors that may influence
these perspectives.
OR

(b) Manoj and Sunil are two managers in a company. State four
reasons how Manoj’s higher emotional intelligence contributes to
his popularity with colleagues as compared to Sunil, who lacks
these qualities.

#11 # P.T.O.



[=] tec
i

16.

17.
18.
19.

20.

21.

22,

23.

24.

63

(F) TR AR FAT o Tid R o= foret =afeh fomiy o ufd e o

IETELT T IYANT Hd U WA o ST ST JoTTedt o sfi=r 3w T hifor |
AT

@) AR T aiER 3R forer™ o JTaTeror o THE Sl ATk TR e
IS |

FHE H HTHTISh T W i o (7T a1 YT SIdT5T 3T SHeATET |

AT, I o i safeh 3T MR T forer Serr SwTlerd st wehell @ 2

Te GHfohd T9E o T 3TR 38 SF1C W § SHT AR o et i it 1 0

ST o ST {1k shITIC |

Queg T

39 e VY Qarefi/amesh o 91 FTd o B &, ST 3TcA 4 goTe ohi 7o) aig HTeAdT &
I T TE1 & | S G -ee ol SAehT &FHT hl oo o THel 1 T ?

g hifS foh 174 3K 180T wrdreal # forereh (k) Tl FHIST (FT9) % T (TS AT
S UU8 TAT3eHT) o AT foehil & SU=R 37T STaeion st fohd Tehi aeifera
EDI

(%) H o wiver Rt o STTER W g 37 wSiHTeHeRaT % Heier o farsdwor i |
JAUAT

(@)  HeIiw AN foh TER 1 g % o AR FA=AA-hATeHeh 84 o a1 |
ISehITT Tohet Tehiehd oG, ohl TIROE ETOTT3AT o6l fohd SohmX STt aaT 2 |

RN AR arearar foshr & difed @ | 98 3109 IdHH SU=R & [0 & &9
Jerfegen ferfercar ot foaR o @1 8 | 319Nk & foiw waifees 3fua fafercar agfa i
SFTRIET HIFSTC & IHeRT St g Hifom |
Qs g
(@) g % Gag H TRl S Thishd gIYHI0T § o1 o S T8 A | 3
ek shTeht 0L ot ==t T ST 37 STaerRomsay sl geTferd o Tehd € |
AT
@)  HAS AR AT Tk O § A TeYsh @ | F 9’ R adEe e At
ATk S5 o 0T AAIST ST GEhA1 H G, e 3 7011 o1 3191 &,
STUAT T AIRT 2 |

#10 #



(5] e[
i

12.

13.

14.

15.

63

A company is forming a new committee to plan a major event. To ensure
effective collaboration, they want the committee to function as a primary
group. Which of the following strategies would best support this goal ?

(A)
(B)
()
(D)

Assigning clear roles and tasks to each member
Encouraging frequent, informal interactions among members
Setting strict rules and guidelines for all meetings

Limiting communication to official emails and reports

Ravi constantly believes he is a failure because he once performed poorly
on a test. Which cognitive problem is he exhibiting according to the

Cognitive Model ?

(A)  Accurate self-assessment
(B)  Overgeneralisation

(C) Rational thinking

(D) Logical reasoning

Which of the following statements best describes how societal norms
influence the perception of abnormal behaviour ?

(A)

(B)

()

(D)

Societal norms are universally consistent and do not change over
time.

Behaviours, thoughts and emotions that align with societal norms
are always considered abnormal.

Societal norms are derived from society’s culture, including its
history, values and institutions and these norms can change over
time.

Aggressive behaviour is universally accepted as normal behaviour
across all cultures.

SECTION B

A teacher notices that Neeraj, one of her class 5 students, learns new
languages very easily, loves new subjects, and is very sensitive to
changes in the classroom. Comment on the intellectual abilities of
Neeraj.
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T SOt 39 T T SIS T AISHT ST o 7T Uk 7% |ivfer o7 a7 s T 2 |
el TN GRS T o foiq o =Ted & fob 72 wfufa wh srerfires o & &9 5 w1
L | T8 AL ! I o ToIT sk wHifd gatam gnft 2

(A)
(B)
(C)
(D)

Tcdsh Ha& ! T ekt Te hid HIOAT

UL} o o TR STI=ITNER HaTg sl TieaTfed i
aft wurrei/erashi o foe seR e 9 ety freffa e
TR Rl FRITAAT 3-Aed 3T e ek Hifia waan

TS E=T T 1 TG WHAAT & RiToh Teh THET H 36 0 TG foham o | GH1eweh

HISH % STTER I8 -6 T THeT Tafid @18 ?

(A)
(B)
(®)
(D)

gk ISR RIET
i gmET=feRtor
o [l haN
l[ddgqenllel Hid

qTieheh el

frafafad 3 9 H19-97 29 9o@ 3T=3] i dfvid shidT 2 Tk TmHTSTes Ades STIEH=T
AR ] ST Rl Foh TR IHTrd hid & ?

(A)
(B)
(C)

(D)

ETHTISTER W AT T &9 8 GETd 8ld & S TH o A1 Seard =2 & |
3 IR, o= S G St qrHTfSTeh AHehl & E77d 81 €, T9ETH= e SI1d @ |

THTST o " 3aehl fafire deapfa, sfem, qeut ofit oot & fokfaa & 8
TS I HHh GHI & 919 ded Hehd ¢ |

ISR IFER i O HERfqal § O a8 o ®9 § AEHiHe &9 9

[a o
TR R feraT STTaT 2 |

Qs g

e Rreer/Rifarent 4 e foan o et 5 | ga STl 391 Uk BT A1 8 Sieal 43
W AT 8, 30 ¢ favg wHe H1d € SR R # B A aiEddl & gid S8

Haesfid 8 | st h sifeger amaranstl oy fewquft SHifsg |
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A study finds that individuals who are regularly exposed to high stress
levels have a higher incidence of infections. This observation can be
explained by :

(A)  Enhanced production of antibodies during stress.

(B)  Increased white cell count due to stress.

(C) Impaired immune response due to stress.

(D)  Reduced need for sleep due to stress.

A person dislikes a type of food, expresses negative opinion about it, and
avoids it. Which components of the A-B-C model of attitudes are
illustrated in this example ?

(A)  Affective and Cognitive

(B)  Affective and Behavioural

(C)  Cognitive and Behavioural

(D)  Affective, Behavioural and Cognitive

Which method of message transmission is likely to be most effective for
creating a positive attitude towards Oral Rehydration Salts (ORS) for
young children ?

(A) Mass media advertisements

(B) Pamphlets and brochures

(C) Community social workers and doctors talking to people directly
(D) Radio announcements

A peaceful audience at a sports event suddenly turns into a frenzied mob
following a controversial decision by the referee. Which factors are likely
responsible for this transformation ?

(A)  The audience’s initial passive nature

(B)  The presence of clear and enforced rules

(C) The polarisation of attention and shared emotions among the
audience

(D)  The diverse opinions and behaviours within the crowd

According to Sheldon’s typology, which of the following combinations

correctly matches the body build with the associated temperament ?

(A)  Endomorphs — Thin, long, fragile, brainy, artistic, introvert

(B) Mesomorphs — Strong musculature, strong body build, rectangular,
energetic, courageous

(C)  Ectomorphs — Fat, soft, round, relaxed, sociable

(D) Endomorphs — Strong musculature, rectangular, energetic,
courageous

ANANNANANAANANNAAANAAAAANAANANAN
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Teh I | I T3 © foh S safer Fafig ®9 @ <o goma @ oed ©d 8, 398 G
B T SATyeh AT BT B | 0 3Taclioh ol 38 TohT THEET ST Hehdl & :

(A)  TI9 o SR U TfdeRTeh! ohl ST |

(B)  SaTd o ST AATU[SAT hl ST 1 |

(C) &l o HRVT geiet Sfcer ST fsha |

(D)  ESITE oh ShIOT e T STTaTThar H & |

Teh Afth Ueh YohR o WIS ohl UHe 8| hidl, 38eh S H FohNIcHe T oIth hidl § 3T
U @ ¥ 9T © | I8 3STe0 A o v-afl-di Hied o forT gkl it geriar @ ?

(A) 7T TR GFHTHF

(B)  WTHTcH 3 FIgNULH

(C) M 3 FIEHILH

(D)  9TETcHeh, GHTCH 3N TR

T THRET <t - it Sie S & foTu 3T fEseym aree (3A1.3Tud.) & ufd
TR STFRT ST o fofe Terer stferek srwreremedt 2 2

(A) SHEAR fagm

(B) e AR qfRae

(C) TSR Srsharetl 3 fafehcaeht ST AT @ Teael &9 § sTd=id T

(D) e w3gmumd

Tk @ AT H 0 a3ieh Wt o faamerede foi o o1 3 SHTet fie § e
A 8 | 39 qiEa o o0 b 19-8 ek g9Tiad €9 9 ITErRT € 2
(A)  aeieRl ot ITfirek ffesh wehfa

(B) ¥qu ud yafdd f=mi &1 g
(C)  aRThi | AL T YT SR AT WIEATE
(D) ofts H fafory Tar 3R sga@R

TS o TET o FTAR HIH-HT FAISH TRINF 16 AR Feiferd Tawre § wel 7
QT g ?

(A)  TIATHId — Idq, Tel, GHAR, FRIUSLE, FHeATcdsh, Sadel

(B)  SIAThIdeh — HSTed USTEHE, Grisd TR, SR, FHeied, et

(C)  sITehiceh — HIE, Hge, T, farferet, freram

(D)  TIATRIdeh — HSTe[d URMEHE, HTIATHI, Fieall, redt
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A researcher is conducting a survey to assess the personality traits of
participants. One of the items in the survey asks, “I always help others
when they are in need.” Which of following biases is most likely to affect
the response to this item ?

(A)  Non-response bias (B)  Acquiescence
(C) Random responding (D)  Social desirability

Which of the following best describes the nature of creativity tests where
there are no specified answers to questions or problems, allowing for
freedom to use one’s imagination and express it in original ways ?

(A) Divergent (B) Convergent
(C)  Analytical (D)  Structured

Which of the following is mot a major criticism of Psychodynamic
theories ?

(A) They are largely based on case studies and lack a rigorous scientific
basis.

(B) They use small and atypical individuals as samples for advancing
generalisations.

(C) The concepts are well defined and easily submitted to scientific
testing.

(D)  They face criticism for using non-representative samples.

In the following question, a statement of Assertion (A) is followed by a
statement of Reason (R). Read the statements and choose the appropriate
option.

Assertion (A) : Psychological tests are widely used for clinical diagnosis,
guidance, personnel selection, placement and training.

Reason (R) : Objective tests provide a standardized and reliable
measure of an individual’s psychological attributes.

(A) Both Assertion (A) and Reason (R) are true, and Reason (R) is the
correct explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not
the correct explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.
(D)  Assertion (A) is false, but Reason (R) is true.

#5# P.T.O.
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(A) AN (A) 3N FRT (R) IHT Hal & N FRT (R), ANTHAT (A) 1 qal
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(ii1)

(iv)

(v)

(vi)

(vii)
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All questions are compulsory, except where internal choice has been given.
Question No. 1 — 14 in Section A carry 1 mark each. You are expected to
answer them as directed.

Question No. 15 — 19 in Section B are Very Short Answer Type-I
Questions carrying 2 marks each. Answer to each question should not
exceed 30 words.

Question No. 20 — 23 in Section C are Short Answer Type-II Questions
carrying 3 marks each. Answer to each question should not exceed
60 words.

Question No. 24 — 27 in Section D are Long Answer Type-I Questions
carrying 4 marks each. Answer to each question should not exceed
120 words.

Question No. 28 and 29 in Section E are Long Answer Type-1I Questions
carrying 6 marks each. Answer to each question should not exceed
200 words.

Question No. 30 — 33 in Section F are based on two case studies given.
Answer to each 1 mark question should not exceed 20 words. Answer to
each 2 marks question should not exceed 30 words.

SECTION A

Madhu is a student who excels in remembering facts and figures but
struggles when it comes to solving complex problems that require critical
thinking and creativity. According to Arthur Jensen, which level of
abilities does Madhu possess ?

(A) Level II, associative learning (B)  Level I, cognitive competence
(C)  Level I, associative learning (D)  Level II, observational learning
Match the following :
Rearing Practices Correlation
1. Identical twins reared in different | I. 0-50
environment
2. Fraternal twins reared together II. 0-60
3. Brothers and sisters reared together I1I. 0-72
4. Siblings reared apart IV. 0-25
(A)  1-1, 2-II, 3-I11, 4-IV (B) 1-II1, 2-11, 3-1, 4-IV
(C) 1-1V, 2-1, 3-111, 4-11 (D) 1-II, 2-1V, 3-1, 4-I11
[ ANNNNAANNAAANAANAAAANAANANAANY
#3# P.T.O.
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379eTT F1 ST 8 |
(iii) TS @ : Y3 G&I1 15 € 19 T 3d -390 FHR -1 524 8, IS eder % 1e7g 2 37
fAerifta & | Jedier 99 1 SR 30 Y1541 @ 3¢ 8] g7 =1fay |
(iv) TUST Y &1 20 € 23 d% 3l TH-37F JFR -1I 524 8, IS4 Jedieh o fo1q 3 37
R4 8 | I I 1 3T 60 Y7sa1 @ 3781 78 g1 =1faT |
(v) TUZY Y97 &I 24 G 27 TF 18-S JFR -1 I99 &, 58 I3 & foru 4 37 fgffia
& | Jedeh I3 o1 SR 120 Y1s<1 G 37ferar 781 g7 =1fau |
(i) TUE T : ¥ &I 28 T 29 TF -39T PR -II I3 8, 1974 JAF & forw 6 37
ATid & | e T3 1 3T 200 I7e3] G 37ferek 781 g1-1 T1fau |
(vii) TUE T : I3 G&IT 30 G 33 TF Gt fch &1 W TR 37 & | 37 W 31eMRd 1 3%
Tt F¥1 b1 ST HIHT 20 Frs<l 3N 2 3 q1ct I¥I 1 ST AT 30 Vsl @ ferer 7& g
=1feq |
©usg h
1. HYUH UH BET R, ST A2l 3R Hihe! i A8 Wi H (Y00 &, feh 3 Stfeet qeanst
F BT F H gEY wdl §, o e streteaTenss a3t wHeHshar i
SATERAFHAT B & | ST S 6 STTAR 7Y H TR T hT AT & ? 1
A) T =, aeaaics st (B) TIH &, GIHTCHS &9dT
(C) Y9 &, Greeicqeh Jfenmy (D) fadia wax, tactie At
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i on the title page of the answer-book. i
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Please check that this question paper contains 15 printed pages.
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Q.P. Code given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.
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Please check that this question paper contains 33 questions.
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Please write down the Serial Number of the question in the
answer-book at the given place before attempting it.
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15 minute time has been allotted to read this question paper. The
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to

# 10.30 a.m., the candidates will read the question paper only and will not
write any answer on the answer-book during this period.
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